Ugamlxo J—olgy a8Vl ylégh dSpm0 3y po Logy (uilig oled =
8¢ (0 0l> g LIg B¢ digdo B dlegiall dyjlll algy gasll IV (g aill
oz Sbolg gasll LT (o ydilly 3oyl Wlidas) Lgamlae wody s .lg>
AL juzmdiy ga=ll Wby b Koezgrg Lol Gbline US 9 vgy9lizg 039i>
5138 aSlaniisd (gSaug 2 Lll pasy 8 03gix (uass blis dazlgoeg dSle)ieg
OSal Cu> gawll Bga o 9 8y Wil o] (yg=deyg dezgall ASl3dlly Golell
O dySne &T (papdine 035 (po BVl deliw syl Gleill JUS Lgaslxo
ligrolo p2lo oS .gasll wlgd Jégs Ghblio 8 (W2 of LS [aoxi dejiog dily
83Laall wilidlly eluassl) 83Lacll W@l3all gl gz lgad (paams @by
lovghii sghs S L lysslxe Wl cuss el JMisl @l agiawg .51,5W
gzl 385 oyl ol Albly ilguuell auadlly juoxill @by i LIV Jegs olg
5989 alll o=y Uasly aiel HoSawg yilusl ¢po el

@l Lol JS bg Loolg Lusis sl b

dSy=0 £33 o Lagy 5Mig plad Azsg pludll (ual je Saguidl CILS ;8 L)
ik o e 3585 a8Vl plagh

B3¢ 8 lioglie e sLadly diglgsall iyl 831 duaypall MoV ¢ Vgl
olszi (I sVgo adinsy Gl ypell 28l9)lg digaall danjell o gyl dglxo o
3099 <5 ySauslly Guobuul @glidiune audy (U1 Slgudly gziiizg 8yl pgo92g
Oy =8 E3Sg Loglio Sy Jolo juol—ib G| 0l eyl sVgo S35 ol
(59— LbliS ain> ;8 (S5 @lg ol Lgsliol A8g 83 (609 Bty O e (g3l
pSacg 3l K9, L Cl3Sg d13)89 dasas dalwly Guaslxall o Wiy gady
8> Yo 20,61 o ] Igaod sVgo S 092 dio JUS dudlasoVl le sLadlly
Us> ,391 &)l Lol 193955 (pld unlaeg Sy Litoglio wuudng bVl 53 ¢ro
(Al Al 93U bgdudlg dusll Gow SI Gaxi g «ogio

ol b Ll LaS,2e dawibyg WS dlasyg alll jai, dalhall Lads o) o6
(bl olaxi aguzly (po dagbinll Lol £91) L8 delazg 38 JS Lisy V wslyleall

54



